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1. &��� � ����'� �%�����/ ��%&�����/ 
&5?O<< >E6>5=<O 4<EF<??<=O «$<7<>4» O6?ONFEO: 

3 D>D<<D>64=<5 G EFG45=F>6 =4GG=>7> EF<?O<OL?5=<O, G<5=<O ?D<<5=OFL D<7<G5E><5 
<5F>4O <EE?54>64=<O 6 D5L5=<< 7444G; 

3 >6?445=<5 EFG45=F4<< <4F5<4F<G5E><< 4??4D4F><, =5>5E>4<<O< 4?O D5L5=<O 
F5>D5F<G5E><E < ?D4>F<G5E><E 7444G;  

3 D476<F<5 G EFG45=F>6 ?D54EF46?5=<5 > �E5?5==>= 6 F5?>< >4> D<7<G5E>>< >5N5>F5 < 55 
M6>?NF<<, > DG=44<5=F4?L=>< 54<=EF65 5EF5EF6>7=4=<O;  

3 G<5=<5 >D<5=F<D>64FLEO 6 ?>F>>5 =4GG=>= < F5E=<G5E>>= <=D>D<4F<< < ?D<<5=5=<O 6 
5G4GM5= =4GG=>-<EE?54>64F5?LE>>= < ?D>5>F=>-?D><76>4EF65==>= 45OF5?L=>EF<. 

�444G< 4<EF<??<=O «$<7<>4»: 
­ >55E?5G<FL 6>7<>6=>EFL D>D<<D>64=<5 G >5GG4NM<EEO DG=>F<>=4?L=>= 7D4<>F=>EF< 

G5D57 6O?>?=5=<5 <EE?54>64F5?LE>>= < ?D4>F<G5E>>= 45OF5?L=>EF<; 
­ >55E?5G<FL >7=4>><?5=<O >5GG4NM<EEOE<5F>44<< =4GG=>7> ?>7=4=<O >>DG64NM57> <<D4, 

4 F4>65 E D<7<G5E><<< >E=>64<< E>6D5<5==>7> ?D><76>4EF64 < 5OF>6>7> F5E=<G5E>>7> 
>>DG65=<O G5?>65>4;  

­ E?>E>5EF6>64FL D>D<<D>64=<N E>5EF65==>= ?>7<F<< ?> >F=>L5=<N > D<7<G5E>>= 
<=D>D<4F<<, ?>?GG5==>= <7 D47=OE <EF>G=<>>6. 

­ E?>E>5EF6>64FL >6?445=<N >E=>64<< GG55=>-<EE?54>64F5?LE>>= 45OF5?L=>EF< < 
?D<<5=5=<N ?>?GG5==OE 7=4=<= ?D< D5L5=<< ?D4>F<G5E><E < F5>D5F<G5E><E 7444G. 

 
2. ��%&� ��%&�����/ � %&$'�&'$� ���� 
'G55=4O 4<EF<??<=4 «$<7<>4» (���.04)>F=>E<FEO > >5O74F5?L=>= G4EF< F<>?4 

>5M5>5D47>64F5?L=OE 4<EF<??<= (E>F<4?L=>-M>>=><<G5E><= ?D>D<?L)< =4E>4<FEO 6 ?>7<G5E>>= < 
EFDG>FGD=>-<5F>4<G5E>>= E6O7< E 4DG7<<< G4EFO<< ����. 

�<EF<??<=4 «$<7<>4» >E64<645FEO =4 547>6>< GD>6=5, <7GG45FEO 6 1 < 2 E5<5EFD5. 
�D54<5F=4O >5?4EFL 3 «�EF5EF65==>-=4GG=O5 ?D54<5FO». 
�56?D54<5F=O5 E6O7<: <4F5<4F<>4 (���.01), <=D>D<4F<>4 (���.02) 
&D55>64=<O > 6E>4=O< 7=4=<O<, G<5=<O< < >><?5F5=F<O< EFG45=F4 D>D<<DGNFEO =4 >E=>65 

?D>7D4<<O >E=>6=>7> >5M57> >5D47>64=<O. 
 
3. �����$'��/� $��'�,&�&/ �%�����/ ''����� ��%&�����/ 
�E6>5=<5 E>45D64=<O GG55=>= 4<EF<??<=O «$<7<>4» >55E?5G<645F 4>EF<65=<5 E?54GNM<E 

D57G?LF4F>6: 
1) ?<G=>EF=O<, 6>?NG4NM<<: 
>E>7=4=<5 >5GG4NM<<<EO D>EE<=E>>= 7D4644=E>>= <45=F<G=>EF<; 
7>F>6=>EFL > E4<>D476<F<N, E4<>EF>OF5?L=>EF< < E4<>>?D545?5=<N; 
=4?<G<5 <>F<64F<< > >5GG5=<N < ?<G=>EF=><G D476<F<N; 
F5?5=4?D46?5==>5 D476<F<5 6=GFD5==5= ?>7<F<< ?<G=>EF< =4 >E=>65 4GE>6=>-=D46EF65==OE 

F5==>EF5= =4D>4>6 $>EE<=E>>= $545D4F<<, <EF>D<G5E><E < =4F<>=4?L=>->G?LFGD=OE FD44<F<=, 
D>D<<D>64=<5 E<EF5<O 7=4G<<OE F5==>EF=>-E<OE?>6OE GEF4=>6>>, 4=F<>>DDG?F<>==>7> 
<<D>6>77D5=<O, ?D46>E>7=4=<O, M>>?>7<G5E>>= >G?LFGDO, E?>E>5=>EF< EF46<FL F5?< < EFD><FL 
6<7=5==O5 ??4=O; 

2) <5F4?D54<5F=O<, 6>?NG4NM<<: 
>E6>5==O5 >5GG4NM<<<EO <56?D54<5F=O5 ?>=OF<O < G=<65DE4?L=O5 GG55=O5 45=EF6<O 

(D57G?OF<6=O5, ?>7=464F5?L=O5, >><<G=<>4F<6=O5); 
E?>E>5=>EFL <E <E?>?L7>64=<O 6 ?>7=464F5?L=>= < E>F<4?L=>= ?D4>F<>5, 7>F>6=>EFL > 

E4<>EF>OF5?L=><G ??4=<D>64=<N < >EGM5EF6?5=<N GG55=>= 45OF5?L=>EF<, >D74=<74F<< GG55=>7> 
E>FDG4=<G5EF64 E ?5447>7<G5E><<< D45>F=<>4<< < E65DEF=<>4<<, > GG4EF<N 6 ?>EFD>5=<< 
<=4<6<4G4?L=>= >5D47>64F5?L=>= FD45>F>D<<; 

>6?445=<5 =46O>4<< GG55=>-<EE?54>64F5?LE>>=, ?D>5>F=>= < E>F<4?L=>= 45OF5?L=>EF<; 
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3) ?D54<5F=O<, 6>?NG4NM<<: >E6>5=<5 >5GG4NM<<<EO 6 E>45 <7GG5=<O GG55=>7> ?D54<5F4 
=4GG=OE 7=4=<=, G<5=<= < E?>E>5>6 45=EF6<=, E?5F<D<G5E><E 4?O E>>F65FEF6GNM5= ?D54<5F=>= 
>5?4EF<. 

1) ED>D<<D>64==>EFL ?D54EF46?5=<= > D>?< < <5EF5 D<7<>< < 4EFD>=><<< 6 E>6D5<5==>= 
=4GG=>= >4DF<=5 <<D4, > E<EF5<>>5D47GNM5= D>?< D<7<>< 6 D476<F<< 5EF5EF65==OE =4G>, F5E=<>< 
< E>6D5<5==OE F5E=>?>7<=, > 6>?445 D>EE<=E><E < 74DG556=OE GG5=OE-D<7<>>6 6 D476<F<5 =4G><; 
?>=<<4=<5 D<7<G5E>>= EGM=>EF< =45?N445<OE O6?5=<= <<>D><<D4, <4>D><<D4 < <574<<D4; 
?>=<<4=<5 D>?< 4EFD>=><<< 6 ?D4>F<G5E>>= 45OF5?L=>EF< G5?>65>4 < 44?L=5=L5< =4GG=>-
F5E=<G5E>>< D476<F<<, D>?< D<7<>< 6 D>D<<D>64=<< >DG7>7>D4 < DG=>F<>=4?L=>= 7D4<>F=>EF< 
G5?>65>4 4?O D5L5=<O ?D4>F<G5E><E 7444G; 

2) ED>D<<D>64==>EFL G<5=<= D4E?>7=464FL D<7<G5E><5 O6?5=<O (?D>F5EEO) < >5NOE=OFL <E 
=4 >E=>65 <7GG5==OE 74>>=>6: D46=><5D=>5 < D46=>GE>>D5==>5 ?DO<>?<=5==>5 46<65=<5, 
E6>5>4=>5 ?445=<5 F5?, 46<65=<5 ?> >>DG6=>EF<, <=5DF<O, 674<<>45=EF6<5 F5?, >>?554F5?L=>5 
46<65=<5, D57>=4=E, 6>?=>6>5 46<65=<5; 4<DDG7<O, 5D>G=>6E>>5 46<65=<5, EFD>5=<5 6<4>>EF5= < 
F65D4OE F5?, <7<5=5=<5 >5N5<4 F5? ?D< =47D564=<< (>E?4645=<<), F5??>6>5 D46=>65E<5, 
<E?4D5=<5, >>=45=E4F<O, ??46?5=<5, >D<EF4??<74F<O, ><?5=<5, 6?46=>EFL 6>74GE4, E6O7L ED54=5= 
><=5F<G5E>>= M=5D7<< F5??>6>7> 46<65=<O <>?5>G? E 45E>?NF=>= F5<?5D4FGD>=, ?>6OL5=<5 
446?5=<O 7474 ?D< 57> =47D564=<< 6 74>DOF>< E>EG45, E6O7L <564G ?4D4<5FD4<< E>EF>O=<O 7474 6 
<7>?D>F5EE4E; M?5>FD<74F<O F5?, 674<<>45=EF6<5 74DO4>6, =47D564=<5 ?D>6>4=<>4 E F>>><, 
674<<>45=EF6<5 <47=<F>6, M?5>FD><47=<F=4O <=4G>F<O, 45=EF6<5 <47=<F=>7> ?>?O =4 ?D>6>4=<> E 
F>>>< < 46<6GM<=EO 74DO4, M?5>FD><47=<F=O5 >>?554=<O < 6>?=O, ?DO<>?<=5==>5 
D4E?D>EFD4=5=<5 E65F4, >FD465=<5, ?D5?><?5=<5, <=F5DD5D5=F<O, 4<DD4>F<O < ?>?OD<74F<O E65F4, 
4<E?5DE<O E65F4; D>F>M?5>FD<G5E><= MDD5>F, E65F>6>5 446?5=<5, 6>7=<>=>65=<5 ?<=5=G4F>7> 
E?5>FD4 4F><4 6>4>D>44, 5EF5EF65==4O < <E>GEEF65==4O D44<>4>F<6=>EFL; 

3) 6?445=<5 >E=>6>?>?474NM<<< D<7<G5E><<< ?>=OF<O<< < 65?<G<=4<<, E4D4>F5D<7GNM<<< 
D<7<G5E><5 ?D>F5EEO (E6O74==O<< E <5E4=<G5E><< 46<65=<5<, 674<<>45=EF6<5< F5?, 
<5E4=<G5E><<< >>?554=<O<< < 6>?=4<<; 4F><=>-<>?5>G?OD=O< EFD>5=<5< 65M5EF64, F5??>6O<< 
?D>F5EE4<<; M?5>FD<G5E><< < <47=<F=O< ?>?O<<, M?5>FD<G5E><< F>>><, M?5>FD><47=<F=O<< 
>>?554=<O<< < 6>?=4<<; >?F<G5E><<< O6?5=<O<<; >64=F>6O<< O6?5=<O<<, EFD>5=<5< 4F><4 < 
4F><=>7> O4D4, D44<>4>F<6=>EFLN); 6?445=<5 >E=>6>?>?474NM<<< 4EFD>=><<G5E><<< ?>=OF<O<<, 
?>76>?ONM<<< E4D4>F5D<7>64FL ?D>F5EEO, ?D><EE>4OM<5 =4 765744E, 6 76574=OE E<EF5<4E, 6 
<5674?4>F<G5E>>= ED545; 46<65=<5 =555E=OE F5?, M6>?NF<N 76574 < �E5?5==>=; 

4) 6?445=<5 74>>=><5D=>EFO<<, 74>>=4<< < F5>D<O<< (74>>= 6E5<<D=>7> FO7>F5=<O, I, II < III 
74>>=O �LNF>=4, 74>>= E>ED4=5=<O <5E4=<G5E>>= M=5D7<<, 74>>= E>ED4=5=<O <<?G?LE4, ?D<=F<? 
EG?5D?>7<F<< E<?, ?D<=F<? D46=>?D46=>EF< <=5DF<4?L=OE E<EF5< >FEG5F4; <>?5>G?OD=>-
><=5F<G5E>GN F5>D<N EFD>5=<O 65M5EF64, 747>6O5 74>>=O, ?5D6O= 74>>= F5D<>4<=4<<><; 74>>= 
E>ED4=5=<O M?5>FD<G5E>>7> 74DO44, 74>>= �G?>=4, 74>>= �<4 4?O GG4EF>4 F5?<, 74>>= �<4 4?O 
?>?=>= M?5>FD<G5E>>= F5?<, 74>>= �6>G?O - �5=F4, 74>>= M?5>FD><47=<F=>= <=4G>F<<, 74>>= 
E>ED4=5=<O M=5D7<<, 74>>= ?DO<>?<=5==>7> D4E?D>EFD4=5=<O E65F4, 74>>= >FD465=<O E65F4, 74>>= 
?D5?><?5=<O E65F4; 74>>= E>ED4=5=<O M=5D7<<, 74>>= E>ED4=5=<O <<?G?LE4, 74>>= E>ED4=5=<O 
M?5>FD<G5E>>7> 74DO44, 74>>= E>ED4=5=<O <4EE>6>7> G<E?4, ?>EFG?4FO �>D4, 74>>= D44<>4>F<6=>7> 
D4E?444); G65D5==>5 <E?>?L7>64=<5 74>>=>6 < 74>>=><5D=>EF5= ?D< 4=4?<75 D<7<G5E><E O6?5=<= < 
?D>F5EE>6; 

5) G<5=<5 GG<FO64FL 7D4=<FO ?D<<5=5=<O <7GG5==OE D<7<G5E><E <>45?5=: <4F5D<4?L=4O 
F>G>4, <=5DF<4?L=4O E<EF5<4 >FEG5F4, <454?L=O= 747; <>45?< EFD>5=<O 747>6, 6<4>>EF5= < F65D4OE 
F5?, F>G5G=O= M?5>FD<G5E><= 74DO4, O45D=4O <>45?L 4F><4, =G>?>==4O <>45?L 4F><=>7> O4D4 ?D< 
D5L5=<< D<7<G5E><E 7444G; 

6) 6?445=<5 >E=>6=O<< <5F>44<< =4GG=>7> ?>7=4=<O, <E?>?L7G5<O<< 6 D<7<>5: ?D>6>4<FL 
?DO<O5 < >>E65==O5 <7<5D5=<O D<7<G5E><E 65?<G<=, 6O5<D4O >?F<<4?L=O= E?>E>5 <7<5D5=<O < 
<E?>?L7GO <765EF=O5 <5F>4O >F5=>< ?>7D5L=>EF5= <7<5D5=<=, ?D>6>4<FL <EE?54>64=<5 
746<E<<>EF5= D<7<G5E><E 65?<G<= E <E?>?L7>64=<5< ?DO<OE <7<5D5=<=, >5NOE=OFL ?>?GG5==O5 
D57G?LF4FO, <E?>?L7GO D<7<G5E><5 F5>D<<, 74>>=O < ?>=OF<O, < 45?4FL 6O6>4O; E>5?N44FL ?D46<?4 
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557>?4E=>7> FDG44 ?D< ?D>6545=<< <EE?54>64=<= 6 D4<>4E GG55=>7> M>E?5D<<5=F4 < GG55=>-
<EE?54>64F5?LE>>= 45OF5?L=>EF< E <E?>?L7>64=<5< F<DD>6OE <7<5D<F5?L=OE GEFD>=EF6 < 
?45>D4F>D=>7> >5>DG4>64=<O; ED>D<<D>64==>EFL ?D54EF46?5=<= > <5F>44E ?>?GG5=<O =4GG=OE 
4EFD>=><<G5E><E 7=4=<=; 

7) ED>D<<D>64==>EFL G<5=<O D5L4FL D4EG5F=O5 7444G< E O6=> 7444==>= D<7<G5E>>= 
<>45?LN, <E?>?L7GO D<7<G5E><5 74>>=O < ?D<=F<?O; =4 >E=>65 4=4?<74 GE?>6<O 7444G< 6O5<D4FL 
D<7<G5E>GN <>45?L, 6O45?OFL D<7<G5E><5 65?<G<=O < D>D<G?O, =5>5E>4<<O5 4?O 55 D5L5=<O, 
?D>6>4<FL D4EG5FO < >F5=<64FL D54?L=>EFL ?>?GG5==>7> 7=4G5=<O D<7<G5E>>= 65?<G<=O; D5L4FL 
>4G5EF65==O5 7444G<, 6OEFD4<64O ?>7<G5E>< =5?D>F<6>D5G<6GN F5?>G>G D4EEG645=<= E >?>D>= =4 
<7GG5==O5 74>>=O, 74>>=><5D=>EF< < D<7<G5E><5 O6?5=<O; 

8) ED>D<<D>64==>EFL G<5=<O ?D<<5=OFL ?>?GG5==O5 7=4=<O 4?O >5NOE=5=<O GE?>6<= 
?D>F5>4=<O D<7<G5E><E O6?5=<= 6 ?D<D>45 < 4?O ?D<=OF<O ?D4>F<G5E><E D5L5=<= 6 ?>6E54=56=>= 
6<7=< 4?O >55E?5G5=<O 557>?4E=>EF< ?D< >5D4M5=<< E 5OF>6O<< ?D<5>D4<< < F5E=<G5E><<< 
GEFD>=EF64<<, E>ED4=5=<O 74>D>6LO < E>5?N45=<O =>D< M>>?>7<G5E>>7> ?>6545=<O 6 >>DG64NM5= 
ED545; ?>=<<4=<5 =5>5E>4<<>EF< ?D<<5=5=<O 4>EF<65=<= D<7<>< < F5E=>?>7<= 4?O 
D4F<>=4?L=>7> ?D<D>4>?>?L7>64=<O; 

9) ED>D<<D>64==>EFL E>5EF65==>= ?>7<F<< ?> >F=>L5=<N > D<7<G5E>>= <=D>D<4F<<, 
?>?GG45<>= <7 D47=OE <EF>G=<>>6, G<5=<= <E?>?L7>64FL F<DD>6O5 F5E=>?>7<< 4?O ?><E>4, 
EFDG>FGD<D>64=<O, <=F5D?D5F4F<< < ?D54EF46?5=<O GG55=>= < =4GG=>-?>?G?OD=>= <=D>D<4F<<; 
D476<F<5 G<5=<= >D<F<G5E>>7> 4=4?<74 ?>?GG45<>= <=D>D<4F<<; 

10) >6?445=<5 G<5=<O<< D45>F4FL 6 7DG??5 E 6O?>?=5=<5< D47?<G=OE E>F<4?L=OE D>?5=, 
??4=<D>64FL D45>FG 7DG??O, D4F<>=4?L=> D4E?D545?OFL 45OF5?L=>EFL 6 =5EF4=44DF=OE E<FG4F<OE, 
445>64F=> >F5=<64FL 6>?44 >464>7> <7 GG4EF=<>>6 7DG??O 6 D5L5=<5 D4EE<4FD<645<>= ?D>5?5<O. 

 
4. ��.�� ��%&�����/ � ���/ ''����� $���&/ 

�5M<= >5N5< 4<EF<??<=O E>EF46?O5F 784>445<<G5E><E G4E>6. 
 
�G=4O D>D<4 >5GG5=<O 

�<4 GG55=>= D45>FO 
�E57> 
G4E>6 

%5<5EFD: 
1 2 

�G4<F>D=O5 74=OF<O (6E57>) 76 32 44 

6 F>< G<E?5:    
�5>F<<, GD>><(�) 38 16 22 
�D4>F<G5E><5 74=OF<O (��) 36 16 20 
%4<>EF>OF5?L=4O D45>F4 (6E57>) (%$) - - - 
$>D<4 ?D><56GF>G=>= 4FF5EF4F<<  

4 

2 2 
>>=FD>?L

=4O 
D45>F4 

�<D. 
74G5F 

�5M<= >5N5<, G4E 78 34 44 

 
�4>G=4O D>D<4 >5GG5=<O  

�<4 GG55=>= D45>FO 
�E57> 
G4E>6 

%5<5EFD: 
1 2 

�G4<F>D=O5 74=OF<O (6E57>) 8 4 4 

6 F>< G<E?5:    
�5>F<<, GD>>< (�) 4 2 2 
�D4>F<G5E><5 74=OF<O (��) 4 2 2 
%4<>EF>OF5?L=4O D45>F4 (6E57>) (%$) 66 28 38 
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6 F>< G<E?5:    
%4<>?>47>F>6>4 (E4<>EF>OF5?L=>5 <7GG5=<5 D4745?>6, 
?D>D45>F>4 < ?>6F>D5=<5 ?5>F<>==>7> <4F5D<4?4 < 
<4F5D<4?4 GG55=<>>6 < GG55=OE ?>E>5<=, ?>47>F>6>4 > 
?D4>F<G5E><< 74=OF<O<, >>=FD>?L=O< D45>F4<, DG556=><G 
>>=FD>?N)  

66 28 38 

$>D<4 ?D><56GF>G=>= 4FF5EF4F<<  

4 

2  2  
>>=FD>?L

=4O 
D45>F4 

�<D. 
74G5F 

�5M<= >5N5<, G4E 78 34 44 

 
5. %���$����� � %&$'�&'$� ��%&�����/ 

 
5.1. %>45D64=<5 4<EF<??<=O 

7 D4745?4 
(F5<O) 

�4<<5=>64=<5 
D4745?4 (F5<O) 

%>45D64=<5 D4745?4 (F5<O) 

1 

$<7<>4 < 
5EF5EF65==>=4GG=O= 
<5F>4 ?>7=4=<O 
?D<D>4O 

�5F>4O =4GG=>7> <EE?54>64=<O D<7<G5E><E O6?5=<=. 
�>45?<D>64=<5 D<7<G5E><E O6?5=<= < ?D>F5EE>6. 
$<7<G5E><= 74>>= 3 7D4=<FO ?D<<5=<<>EF<. $<7<G5E><5 
F5>D<< < ?D<=F<? E>>F65FEF6<O. $>?L < <5EF> D<7<>< 6 
D>D<<D>64=<< E>6D5<5==>= =4GG=>= >4DF<=O <<D4, 6 
?D4>F<G5E>>= 45OF5?L=>EF< ?N45=. $<7<>4 < >G?LFGD4.  

2 �5E4=<>4 

�D54<5F < 7444G< >?4EE<G5E>>= <5E4=<><. �<=5<4F<G5E><5 
E4D4>F5D<EF<>< <5E4=<G5E>>7> 46<65=<O. �>45?< F5? < 
46<65=<=. $46=>GE>>D5==>5 ?DO<>?<=5==>5 46<65=<5, 
E6>5>4=>5 ?445=<5, 46<65=<5 F5?4, 5D>L5==>7> ?>4 G7?>< > 
7>D<7>=FG. �6<65=<5 F>G>< ?> >>DG6=>EF<. 
�>EFG?4F5?L=>5 < 6D4M4F5?L=>5 46<65=<5 F65D4>7> F5?4. 
�74<<>45=EF6<5 F5?. �D<=F<? EG?5D?>7<F<< E<?. 
�=5DF<4?L=4O E<EF5<4 >FEG5F4. �4>>=O <5E4=<>< �LNF>=4. 
�4>>=O �E5<<D=>7> FO7>F5=<O, �G>4, EGE>7> FD5=<O. 
�6<65=<5 =555E=OE F5? < <E <E>GEEF65==OE E?GF=<>>6. 
/6?5=<O, =45?N445<O5 6 =5<=5DF<4?L=OE E<EF5<4E 

>FEG5F4. 
�<?G?LE E<?O. �4>>= <7<5=5=<O < E>ED4=5=<O <<?G?LE4. 
$45>F4 E<?O. �4>>= <7<5=5=<O < E>ED4=5=<O M=5D7<<. 
$46=>65E<5 <4F5D<4?L=>= F>G>< < F65D4>7> F5?4. 'E?>6<O 
D46=>65E<O F65D4>7> F5?4 6 <=5DF<4?L=>= E<EF5<5 >FEG5F4. 
�><5=F E<?O. $46=>65E<5 6<4>>EF< < 7474. �6<65=<5 
6<4>>EF5= < 747>6. �4>>= E>ED4=5=<O M=5D7<< 6 4<=4<<>5 

6<4>>EF< < 7474. 

3 
�>?5>G?OD=4O 
D<7<>4 

�D54<5F < 7444G< <>?5>G?OD=>-><=5F<G5E>>= F5>D<< (��&) 
< F5D<>4<=4<<><.  
->E?5D<<5=F4?L=O5 4>>474F5?LEF64 ��&. �5E>?NF=4O 
F5<?5D4FGD4 >4> <5D4 ED54=5= ><=5F<G5E>>= M=5D7<< 
F5??>6>7> 46<65=<O G4EF<F 65M5EF64. �>45?L <454?L=>7> 
7474. �46?5=<5 7474. %6O7L <564G 446?5=<5< < ED54=5= 
><=5F<G5E>>= M=5D7<5= ?>EFG?4F5?L=>7> F5??>6>7> 
46<65=<O <>?5>G? <454?L=>7> 7474. 
�>45?L <454?L=>7> 7474 6 F5D<>4<=4<<>5: GD46=5=<5 
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�5=45?55643�?4?5=D>=4, 6OD465=<5 4?O 6=GFD5==5= 
M=5D7<<. �4>>= �4?LF>=4. �47>6O5 74>>=O. 
�7D574F=O5 E>EF>O=<O 65M5EF64. $47>6O5 ?5D5E>4O. 
�D5>5D47>64=<5 M=5D7<< 6 D47>6OE ?5D5E>44E. 
�4EOM5==O5 < =5=4EOM5==O5 ?4DO. �?46=>EFL 6>74GE4. 
�>45?L EFD>5=<O 6<4>>EF5=. �>65DE=>EF=>5 =4FO65=<5. 

�>45?L EFD>5=<O F65D4OE F5?. �5E4=<G5E><5 E6>=EF64 

F65D4OE F5?. 
�=GFD5==OO M=5D7<O. $45>F4 < F5??>?5D544G4 >4> E?>E>5O 
<7<5=5=<O 6=GFD5==5= M=5D7<<. �5D6O= 74>>= 
F5D<>4<=4<<><. �4<454F=O= ?D>F5EE. �F>D>= 74>>= 

F5D<>4<=4<<><. 
�D5>5D47>64=<O M=5D7<< 6 F5??>6OE <4L<=4E. ��� 
F5??>6>= <4L<=O. &<>? �4D=>. ->>?>7<G5E><5 ?D>5?5<O 
F5??>M=5D75F<><. 

4 
-?5>FD>4<=4<<>4 
 

�D54<5F < 7444G< M?5>FD>4<=4<<><. -?5>FD<G5E>>5 
674<<>45=EF6<5. �4>>= E>ED4=5=<O M?5>FD<G5E>>7> 74DO44. 

�4>>= �G?>=4. �4?DO65==>EFL < ?>F5=F<4? 
M?5>FD>EF4F<G5E>>7> ?>?O. �D<=F<? EG?5D?>7<F<< 
M?5>FD<G5E><E ?>?5=. $47=>EFL ?>F5=F<4?>6. �D>6>4=<>< < 
4<M?5>FD<>< 6 M?5>FD>EF4F<G5E>>< ?>?5. -?5>FD<G5E>4O 
5<>>EFL. �>=45=E4F>D. -=5D7<O M?5>FD<G5E>>7> ?>?O. 
�>EF>O==O= M?5>FD<G5E><= F>>. -?5>FD>46<6GM4O E<?4 
(-�%). �4>>= �<4 4?O ?>?=>= M?5>FD<G5E>>= F5?<. 
-?5>FD<G5E><= F>> 6 <5F4??4E, M?5>FD>?<F4E, 
?>?G?D>6>4=<>4E, 7474E < 64>GG<5. �?47<4. -?5>FD>?<7. 
�>?G?D>6>4=<>>6O5 ?D<5>DO. %65DE?D>6>4<<>EFL. 
�47=<F=>5 ?>?5. �5>F>D <47=<F=>= <=4G>F<<. �D<=F<? 
EG?5D?>7<F<< <47=<F=OE ?>?5=. �47=<F=>5 ?>?5 
?D>6>4=<>4 E F>>><. �5=EF6<5 <47=<F=>7> ?>?O =4 
?D>6>4=<> E F>>>< < 46<6GMGNEO 74DO65==GN G4EF<FG. 
%<?4 �<?5D4 < E<?4 �>D5=F4. 
�>F>> 65>F>D4 <47=<F=>= <=4G>F<<. /6?5=<5 
M?5>FD><47=<F=>= <=4G>F<<. �4>>= M?5>FD><47=<F=>= 
<=4G>F<<. -�% <=4G>F<< 6 46<6GM<EEO ?D>6>4=<>4E. 
�D46<?> �5=F4. /6?5=<5 E4<><=4G>F<<. �=4G>F<6=>EFL. 
-=5D7<O M?5>FD><47=<F=>7> ?>?O. �47=<F=O5 E6>=EF64 
65M5EF64. 
-?5>FD><47=<F=>5 ?>?5. �<ED56>5 M?5>FD<G5E>>5 ?>?5. 
-?5>FD><47=<F=O5 6>?=O. %6>=EF64 M?5>FD><47=<F=OE 
6>?=. �<4?47>=O M?5>FD><47=<F=OE <7?GG5=<= < <E 
?D4>F<G5E>>5 ?D<<5=5=<5. �D<=F<?O D44<>E6O7< < 
F5?56<45=<O. 

5 �>?554=<O < 6>?=O 

�5E4=<G5E><5 >>?554=<O < 6>?=O. �<??<FG44, ?5D<>4, 
G4EF>F4, D474>>?554=<=. �D56D4M5=<O M=5D7<< ?D< 
>>?554=<OE. �O=G645==O5 >>?554=<O, D57>=4=E. 
�>?5D5G=O5 < ?D>4>?L=O5 6>?=O. -=5D7<O 6>?=O. 
�=F5DD5D5=F<O < 4<DD4>F<O 6>?=. �6G>>6O5 6>?=O. 
-?5>FD><47=<F=O5 >>?554=<O. �>?554F5?L=O= >>=FGD. 
%6>5>4=O5 M?5>FD><47=<F=O5 >>?554=<O. �O=G645==O5 
M?5>FD><47=<F=O5 >>?554=<O. $57>=4=E. �5D5<5==O= F>>. 
�>=45=E4F>D < >4FGL>4 6 F5?< ?5D5<5==>7> F>>4. 
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�D><76>4EF6>, ?5D544G4 < ?>FD55?5=<5 M?5>FD<G5E>>= 
M=5D7<<. -?5<5=F4D=4O F5>D<O FD4=ED>D<4F>D4. 

6 �?F<>4 

�5><5FD<G5E>4O >?F<>4. �DO<>?<=5==>5 D4E?D>EFD4=5=<5 
E65F4 6 >4=>D>4=>= ED545. �4>>=O >FD465=<O < 
?D5?><?5=<O E65F4. �>?=>5 6=GFD5==55 >FD465=<5. 
�?F<G5E><5 ?D<5>DO.�>?=>6O5 E6>=EF64 E65F4. %>>D>EFL 
E65F4. �=F5DD5D5=F<O E65F4. �>75D5=F=>EFL. �<DD4>F<O 
E65F4. �>?OD<74F<O E65F4. �<E?5DE<O E65F4. �D4>F<G5E>>5 
?D<<5=5=<5 M?5>FD><47=<F=OE <7?GG5=<=.  
�=64D<4=F=>EFL <>4G?O E>>D>EF< E65F4 6 64>GG<5. �D<=F<? 
>F=>E<F5?L=>EF< -==LF5==4. �D>EFD4=EF6> < 6D5<O 6 

E?5F<4?L=>= F5>D<< >F=>E<F5?L=>EF<. -=5D7<O < <<?G?LE 

E6>5>4=>= G4EF<FO. %6O7L <4EEO < M=5D7<< E6>5>4=>= 
G4EF<FO. -=5D7<O ?>>>O. 

7 �64=F>64O D<7<>4 

�D54<5F < 7444G< >64=F>6>= D<7<><.  
&5??>6>5 <7?GG5=<5. $4E?D545?5=<5 M=5D7<< 6 E?5>FD5 
45E>?NF=> G5D=>7> F5?4.  
�<?>F574 �. �?4=>4 > >64=F4E. $>F>MDD5>F. �?OFO 
�.�. %F>?5F>64, 74>>=O D>F>MDD5>F4. 'D46=5=<5 �. 
-==LF5==4 4?O D>F>MDD5>F4. 
$>F>=. �?OFO �.�. �5554564 < %.�. �46<?>64. �<?>F574 �. 
�5 �D>=?O > 6>?=>6OE E6>=EF64E G4EF<F. �>D?GE>G?OD=>4
6>?=>6>= 4G4?<7<. �<DD4>F<O M?5>FD>=>6. �46?5=<5 E65F4. 
%>>F=>L5=<5 =5>?D545?5==>EF5= �5=75=55D74.  
�>45?< EFD>5=<O 4F><4. �5NOE=5=<5 ?<=5=G4F>7> E?5>FD4 
6>4>D>44 =4 >E=>65 >64=F>6OE ?>EFG?4F>6 �. �>D4. 
%?>=F4==>5 < 6O=G645==>5 <7?GG5=<5 E65F4. 

8 
$<7<>4 4F><=>7> 
O4D4 

%>EF46 < EFD>5=<5 4F><=>7> O4D4. �7>F>?O. /45D=O5 E<?O. 
�5D5>F <4EEO < M=5D7<O E6O7< O4D4. 
�4>>= D44<>4>F<6=>7> D4E?444. /45D=O5 D54>F<<, D54>F<< 
45?5=<O < E<=F574. &5?=4O D54>F<O 45?5=<O O45D. /45D=4O 
M=5D75F<>4. &5D<>O45D=O= E<=F57.  
-?5<5=F4D=O5 G4EF<FO. $G=44<5=F4?L=O5 674<<>45=EF6<O. 
'E>>D<F5?< M?5<5=F4D=OE G4EF<F.  

9 %FD>5=<5 �E5?5==>= 

�D<<5=<<>EFL 74>>=>6 D<7<>< 4?O >5NOE=5=<O ?D<D>4O 
>>E<<G5E><E >5N5>F>6. %>?=5G=4O E<EF5<4. �6574O < 
<EF>G=<>< <E M=5D7<<. �?4EE<D<>4F<O 76574. -6>?NF<O 
%>?=F4 < 76574. 
�4?4>F<>4. �DG7<5 74?4>F<><. �D>EFD4=EF65==>-6D5<5==O5 
<4ELF45O =45?N445<>= �E5?5==>=. �D54EF46?5=<5 >5 
M6>?NF<< �E5?5==>=. &5<=4O <4F5D<O < F5<=4O M=5D7<O.  

 
5.2. %FDG>FGD4 4<EF<??<=O (F5<4F<G5E>>5 ??4=<D>64=<5) 
 
�G=4O D>D<4 >5GG5=<O 
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�4>G=4O D>D<4 

 
5.3. �D4>F<G5E><5 74=OF<O < E5<<=4DO 

 
�G=4O D>D<4 >5GG5=<O 

7D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) 
�>?<G5EF6> G4E>6 

�E57> � �� (%) �$ %$ 
1 E5<5EFD 

1. 
$<7<>4 < 5EF5EF65==>=4GG=O= <5F>4 
?>7=4=<O ?D<D>4O 

4 2 2 - - 

2. �5E4=<>4 8 4 4 - - 
3. �>?5>G?OD=4O D<7<>4 10 4 4 - - 
4. -?5>FD>4<=4<<>4 12 6 6 - - 
 �D><56GF>G=4O 4FF5EF4F<O 2     

2 E5<5EFD 
5. �>?554=<O < 6>?=O 8 4 4 - - 
6. �?F<>4 8 4 4 - - 
7. �64=F>64O D<7<>4 8 4 4 - - 
8. $<7<>4 4F><=>7> O4D4 12 6 4 - - 
9. %FD>5=<5 �E5?5==>= 8 4 4 - - 
 �D><56GF>G=4O 4FF5EF4F<O 2   -  

�5M<= >5N5<, G4E 78 38 38 - 2 

7D4745?
4 (F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) 
�>?<G5EF6> G4E>6 

�E57> � �� (%) �$ %$ 
1 E5<5EFD 

1. 
$<7<>4 < 5EF5EF65==>=4GG=O= <5F>4 
?>7=4=<O ?D<D>4O 

4 - - - 4 

2. �5E4=<>4 8 2 2 - 4 
3. �>?5>G?OD=4O D<7<>4 10 - - - 10 
4. -?5>FD>4<=4<<>4 10 - - - 10 
 �D><56GF>G=4O 4FF5EF4F<O 2    2 

2 E5<5EFD 
5. �>?554=<O < 6>?=O 8 2 2 - 4 
6. �?F<>4 8 - - - 8 
7. �64=F>64O D<7<>4 8 - - - 8 
8. $<7<>4 4F><=>7> O4D4 10 - - - 10 
9. %FD>5=<5 �E5?5==>= 8 - - - 8 
 �D><56GF>G=4O 4FF5EF4F<O  2   -  

�5M<= >5N5<, G4E 78 4 4 - 66 

7 ?/? 
7 

D4745?4 
(F5<O) 

&5<4 
�>?<G5EF6> 

G4E>6 

1 1. $<7<>4 < 5EF5EF65==>=4GG=O= <5F>4 ?>7=4=<O ?D<D>4O 2 
2 2. �5E4=<>4 4 
3 3. �>?5>G?OD=4O D<7<>4 4 
4 4. -?5>FD>4<=4<<>4 6 
5 5. �>?554=<O < 6>?=O 4 
6 6. �?F<>4 4 
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�4>G=4O D>D<4 >5GG5=<O 

 
5.4. �45>D4F>D=O5 D45>FO 

=5 ?D54GE<>FD5=O 

5.5. %4<>EF>OF5?L=>5 <7GG5=<5 D4745?>6 (F5<) 4<EF<??<=O 
 
�G=4O D>D<4 >5GG5=<O  

7D4745?4 
(F5<O) 

&5<O,6O=>E<<O5=4E4<>EF>OF5?L=>5<7GG5
=<5 

�>?<G5EF6> 
G4E>6 

3 �>?5>G?OD=4O D<7<>4 2 
 
�4>G=4O D>D<4 >5GG5=<O 

7D4745?4 
(F5<O) 

&5<O,6O=>E<<O5=4E4<>EF>OF5?L=>5<7GG5
=<5 

�>?<G5EF6> 
G4E>6 

1. $<7<>4 < 5EF5EF65==>=4GG=O= <5F>4 ?>7=4=<O ?D<D>4O 4 
2. �5E4=<>4 4 
3. �>?5>G?OD=4OD<7<>4 10 
4. -?5>FD>4<=4<<>4 10 
5. �>?554=<O < 6>?=O 4 
6. �?F<>4 8 
7. �64=F>64OD<7<>4 8 
8. $<7<>44F><=>7>O4D4 10 
9. %FD>5=<5�E5?5==>= 8 

 

6. ''����-��&���'�%��� � ��$�$��&������ ���%��'����  
��%&�����/ 

6.1. �E=>6=4O ?<F5D4FGD4 
1. �O><L56, �. /. $<7<>4. 10-= >?4EE. �47>6O= < G7?G5?5==O= GD>6=< : GG55=<> / �. /. 

�O><L56, �. �. �GE>6F56, �. �. %>FE><= ; ?>4 D54. �. �. �4DD5=FL56>=. 4 11-5 <74., EF5D. 4 
�>E>64 : �D>E65M5=<5, 2024. 4 432 E. : <?. 4 (�?4EE<G5E><= >GDE). 4 ISBN 978-5-09-112178-0. - 
&5>EF : M?5>FD>==O=. - URL: https://znanium.ru/catalog/product/2157221 

7 7. �64=F>64O D<7<>4 4 
8 8. $<7<>4 4F><=>7> O4D4 6 
9 9. %FD>5=<5 �E5?5==>= 4 

�5M<= >5N5<, G4E: 38 

7 
?/? 

7 
D4745?4 
(F5<O) 

&5<4 
�>?<G5EF6> 

G4E>6 

1 1. $<7<>4 < 5EF5EF65==>=4GG=O= <5F>4 ?>7=4=<O ?D<D>4O - 
2 2. �5E4=<>4 2 
3 3. �>?5>G?OD=4O D<7<>4 - 
4 4. -?5>FD>4<=4<<>4 - 
5 5. �>?554=<O < 6>?=O 2 
6 6. �?F<>4 - 
7 7. �64=F>64O D<7<>4 - 
8 8. $<7<>4 4F><=>7> O4D4 - 
9 9. %FD>5=<5 �E5?5==>= - 

�5M<= >5N5<, G4E: 4 



 

 

2. �O><L56, �. /. $<7<>4. 
�O><L56, �. �. �GE>6F56, �. �
�>E>64 : �D>E65M5=<5, 2024. 
112179-7. - &5>EF : M?5>FD>==O=.

6.2. �>?>?=<F5?L=4O ?<F
1. �4?4L=<>>6, �. �.  $<7<
>5D47>64=<O / �. �. �4?4L=<>
�744F5?LEF6> .D4=F, 2023. 4
16205-9. 4 &5>EF : M?5>FD>=
https://urait.ru/bcode/530614 
2. �>D?4G, �. �.  $<7<>4. �44
?D>D5EE<>=4?L=>7> >5D47>64=<O
4 (�D>D5EE<>=4?L=>5 >5D47>6
�5D47>64F5?L=4O ??4FD>D<4 .D

 

 
 
�5D<>4<G5E><5 <744=<O 

1. �5EF=<> �>E>>6E>>7> '=
�>EFG?=O= 4DE<6: 2023-

2. �5EF=<> �5D<E>>7> G=<6
2022. 3 $56<< 4>EFG?4:ht

3. �5EF=<> $>EE<=E>>7> G=
$<7<>4[-?5>FD>==O= D
http://www.iprbookshop.ru

 
6.3.�D>7D4<<=>5>55E?5G5
Microsoft Windows <?< /=4
Microsoft Office Professiona
�>=EG?LF4=F-�?NE 
Google Chrome <?< /=45>E

6.4. �47O 44==OE, <=D>D<4F
�474 44==OE IT E?5F<4?<EF
1%: �<5?<>F5>4 - https://ww
�><E>>64O E<EF5<4 Yandex
�><E>>64O E<EF5<4 Ramble
�5D47>64F5?L=4O ??4FD>D<
 
7. ��&�$���,��-&�%
�?O D54?<74F<< 4<EF<??<=

3 4?O ?D>6545=<O ?5>F<=
F5E=<G5E><<< ED54EF6
>><?LNF5D, D4EE>4=O5 <4

3 4?O ?D>6545=<O ?D4>F<G5
F5E=<G5E><<< ED54EF6
>><?LNF5D, D4EE>4=O5 <4
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7<>4. 11-= >?4EE. �47>6O= < G7?G5?5==O= GD
, �. �. '4DG7<= ; ?>4 D54. �. �. �4DD5=FL56>
024. 4 432 E. : [4] ?. <?. 4 (�?4EE<G5E><= >
==O=. - URL: https://znanium.ru/catalog/product/2
4O ?<F5D4FGD4 
$<7<>4 : GG55=<> < ?D4>F<>G< 4?O ED54=

4L=<>>6, %. �. �GD46L56. 4 2-5 <74., ?5D5D
4 496 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=

5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .

4. �444G<, F5EFO. �5F>4O D5L5=<O : GG55=>5
64=<O / �. �. �>D?4G. 4 �>E>64 : �744F5?LEF6

5D47>64=<5). 4 ISBN 978-5-534-08112-1. 4
4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/49

=<O  
7> '=<65DE<F5F4. %5D<O 3. $<7<>4. �EFD>=><<

-2025. 3 $56<< 4>EFG?4: http://vmu.phys.msu
 G=<65DE<F5F4. $<7<>4 [-?5>FD>==O= D5EGDE].

https://www.iprbookshop.ru/11595.html 
7> G=<65DE<F5F4 4DG65O =4D>4>6. %5D<O �4
= D5EGDE]. �>EFG?=O= 4DE<6: 2011-2024

hop.ru/32515.html. 

E?5G5=<5 
?< /=45>E 360 
ssional Plus 2019 

=45>E.�D4G75D 
 

D<4F<>==>-E?D46>G=O5 < ?><E>>6O5 E<EF5<
4?<EF43 $56<< 4>EFG?4: http://info-comp.ru/ 
s://www.sksi.ru/environment/eor/library/ 
andex - https://www.yandex.ru/ 
ambler -https://www.rambler.ru/ 
FD>D<4 .D4=F -  https://urait.ru/  

&�%��'�%��� ���%��'���� ��%&�
<??<=O =5>5E>4<<> E?54GNM55 <4F5D<4?L=>-
5>F<=, GD>>>6 3 GG55=4O 4G4<F>D<O, >E=4M5
D54EF64<< >5GG5=<O: GG55=4O <555?L
O5 <4F5D<4?O; 

4>F<G5E><E 74=OF<= 3GG55=4O 4G4<F>D<O, >E=4M
D54EF64<< >5GG5=<O: GG55=4O <555?L
O5 <4F5D<4?O; >45<=5F 557>?4E=>EF< 6<7=545O

O= GD>6=< : GG55=<> / �. /. 
FL56>=. 4 12-5 <74., EF5D. 4 
><= >GDE). 4 ISBN 978-5-09-
duct/2157215 

ED54=57> ?D>D5EE<>=4?L=>7> 
?5D5D45. < 4>?. 4 �>E>64 : 
7>64=<5). 4 ISBN 978-5-534-
<4 .D4=F [E4=F]. 4 URL: 

G55=>5 ?>E>5<5 4?O ED54=57> 
?LEF6> .D4=F, 2022. 4 301 E. 

4 &5>EF : M?5>FD>==O= // 
ode/494416 

>=><<O [-?5>FD>==O= D5EGDE]. 
ys.msu.ru 
EGDE]. �>EFG?=O= 4DE<6: 2011-

O �4F5<4F<>4. �=D>D<4F<>4. 
2024. 3 $56<< 4>EFG?4: 

<EF5<O, �=F5D=5F-D5EGDEO 

%&�����/ 
-F5E=<G5E>>5 >55E?5G5=<5: 

E=4M5==4O >5>DG4>64=<5< < 
555?L, M>D4=, ?D>5>F>D, 

>E=4M5==4O >5>DG4>64=<5< < 
555?L, M>D4=, ?D>5>F>D, 
=545OF5?L=>EF<; 



 
 

12 
 

3 4?O >D74=<74F<< E4<>EF>OF5?L=>= D45>FO - ?><5M5=<5, >E=4M5==>5 >><?LNF5D=>= 
F5E=<>>= E 6>7<>6=>EFLN ?>4>?NG5=<O > E5F< «�=F5D=5F» < >55E?5G5=<5< 4>EFG?4 > 
M?5>FD>==>= <=D>D<4F<>==>->5D47>64F5?L=>= ED545 �=EF<FGF4, D4EE>4=O5 <4F5D<4?O; 

3 4?O F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<< - GG55=4O 4G4<F>D<O, >E=4M5==4O 
>5>DG4>64=<5< < F5E=<G5E><<< ED54EF64<< >5GG5=<O: GG55=4O <555?L, M>D4=, ?D>5>F>D, 
=>GF5G>, D4EE>4=O5 <4F5D<4?O. 

 
8. �%������%&� �%�����/ ��%&�����/ ��&��� % ��$���'���/�� 

��������%&/�� ���$��,/ 
�5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?ONFEO E?5F<4?L=O5 

GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O, E?5F<4?L=O5 F5E=<G5E><5 ED54EF64 
>5GG5=<O >>??5>F<6=>7> < <=4<6<4G4?L=>7> ?>?L7>64=<O, GE?G7< 4EE<EF5=F4 (FLNF>D4), 
>>47O64NM57> >5GG4NM<<EO =5>5E>4<<GN F5E=<G5E>GN ?><>ML, 4 F4>65 GE?G7< 
EGD4>?5D56>4G<>>6 < F<D?>EGD4>?5D56>4G<>>6. �D74=<74F<O >55E?5G<645F ?5G4F=O<< </<?< 
M?5>FD>==O<< >5D47>64F5?L=O<< D5EGDE4<< 6 D>D<4E, 444?F<D>64==OE > >7D4=<G5=<O< <E 
74>D>6LO. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO <>65F 
5OFL >D74=<7>64=> E>6<5EF=> E 4DG7<<< >5GG4NM<<<EO, 4 F4>65 6 >F45?L=OE 7DG??4E. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO 
>EGM5EF6?O5FEO E GG5F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O, <=4<6<4G4?L=OE 
6>7<>6=>EF5= < E>EF>O=<O 74>D>6LO. 

� F5?OE 4>EFG?=>EF< ?>?GG5=<O 6OEL57> >5D47>64=<O ?> >5D47>64F5?L=>= ?D>7D4<<5 
?<F4<< E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D< >E6>5=<< 4<EF<??<=O >55E?5G<645FEO: 

1) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> 7D5=<N: 
3 ?D<EGFEF6<5 FLNF>D4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E GG5F>< 

<=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL < 
>D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 ?<EL<5==O5 7444=<O, 4 F4>65 <=EFDG>F<< > ?>DO4>5 <E 6O?>?=5=<O >D>D<?ONFEO 
G65?<G5==O< LD<DF><, 

3 E?5F<4?L=O5 GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O (<<5NM<5 >DG?=O= 
LD<DF <?< 4G4<>D4=?O), 

3 <=4<6<4G4?L=>5 D46=><5D=>5 >E65M5=<5 =5 <5=55 300 ?N>E, 
3 ?D< =5>5E>4<<>EF< EFG45=FG 4?O 6O?>?=5=<O 7444=<O ?D54>EF46?O5FEO G65?<G<64NM55 

GEFD>=EF6>; 
2) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> E?GEG: 
3 ?D<EGFEF6<5 4EE<EF5=F4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E 

GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL 
< >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 >55E?5G<645FEO =4?<G<5 76G>>GE<?<64NM5= 4??4D4FGDO >>??5>F<6=>7> ?>?L7>64=<O, ?D< 
=5>5E>4<<>EF< >5GG4NM5<GEO ?D54>EF46?O5FEO 76G>>GE<?<64NM4O 4??4D4FGD4 <=4<6<4G4?L=>7> 
?>?L7>64=<O; 

3 >55E?5G<645FEO =44?564M<<< 76G>>6O<< ED54EF64<< 6>E?D><76545=<O <=D>D<4F<<; 
3) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, <<5NM<E =4DGL5=<O >?>D=>-

46<74F5?L=>7> 4??4D4F4: 
3 ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 >><?LNF5D5 E> E?5F<4?<7<D>64==O< ?D>7D4<<=O< 

>55E?5G5=<5< <?< =44<>F>6O64NFEO FLNF>DG; 
3 ?> 65?4=<N >5GG4NM57>EO 7444=<O <>7GF 6O?>?=OFLEO 6 GEF=>= D>D<5. 
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�D>7D4<<4 E>EF46?5=4 6 E>>F65FEF6<< E FD55>64=<O<< $545D4?L=>7> 7>EG44DEF65==>7> 
>5D47>64F5?L=>7> EF4=44DF4 ED54=57> >5M57> >5D47>64=<O, GF6. �D<>47>< �<=<EF5DEF64 
>5D47>64=<O < =4G>< $$ >F 17.05.2012 7. 7 413 < $��. 
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